Math 250 3.5 Derivatives of Trig Functions

-~ Objectives

1) Find derivatives using the quotient rule and trig identities to find the remaining trig derivatives

d

a. —tanx
dx

b. icotx
dx
d

C. —Secx
dx

d. icscx
dx

e. *****Memorize the derivatives of all six trigonometric functions.
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Recall: Definition of Derivative

S&+h)-f(x)
h

My (x) = f'(x) = }g%

Examples and Practice:

1) Find the limits analytically

a lim 3-3cos(x)

x>0 X
b. lim cos(d) tan(#)
-0 2]
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¢ lim 2 &)
x—0 X

d. limSin(6%)

x>0 sin(8x)

2) Usethe quotient rule and the derivatives of f(x) =sinx and f(x) = cosx to find the derivatives of

a. tanx b. cotx

3) Find first derivatives

1-sinx
a. y=
COS X
b. f(0)=(0+1)cotd
1
c. f(x)—m
d. f(x)zx_ts'_af_(x_)
X" tanx

a 4) Find the second derivative of f(x) = sec(x)
5) Find the third derivative of f(x)=tanx

C. secx d. cscx
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